





(X%— Yy "= x ¥ Li)" (x-1)= XL”"

~(x - x) H’

XS“"“{ X?—’ U = (X"\) (K&" EX’\’\) = O

- 3x-4=0

X= | &Y
(x=4)(x+1)=0
Xx=4 x= "
=P = L(
o=t o
’mef\%uuf Y ~
7 e Ay
Area of R = J 1 Hxox X
\









. .
Conchuxion & W~ &s aim.wm)b.oﬁ 5 0V
L, 3

A SN

/—\/@QH ______ N
_ 2
C-F(a-b)- 2 (b-t@-b)) =0 |

+C ~-49 (rv(o)- 12} + 48 (CL-B)—': o
'}C——\Z\o"<&""o)30
—CL-l'-lllo-F?c—.:ol‘(-—l)

QL-\—\\L’”DFC:O

=8
1

L= o +lUb -—Fc =0,

1) A~ [O l _ cL lo

K= XA | m
Axcwé XA

LS Q fw% oy



")l e
o= and

£ =
A =a
o = A ]

=
L = C

(O.,L:,c,aﬂ, (CQ C,C, &U c (o] 0)
+d (1,0,0, 1)

where ¢ and ol pre %ba

o | 0}
Concluscan X = [{ 5 ! d[o |

&
\,LMLC,OW\&Q = c. &J
OLMW. J——




